Autodesk Maya & ¥ % BA0% RS ® B FEp#110/10/23

5 5 e FT % i 3B B 5 A TT % il i
1 120% T p A i 15 * O zp=C i
2 % 01 T p A i i 16 MOk Y rp=-C i i
3 7 O Wi T p-A LCIEL] 17 FOHE z p=ZA W iB
4 v O & zp=-A i i 18 0% P =A i iE
5 % 04a zp=A i i 19 ¥ O0i% z p=ZA W iB
6 20 = zp - A i i 20 =042 = p=A i i
7 ¥ O z B = A i B 21 Z20Om P ZA i iE
8 ¥ 0% zp = A i iE 22 O3 = p=A i 1§
9 %O zp-A i i 23 LOp = p=ZA W iB
10| #0% z P A i i 24| EOF wp =z A i iF
11 £ 05 z p =B i i 25 ¥ Oz P owA W iB
12 OB z p =B i 26 O z Pz A i i
13 HwO# zp=-B i i 27 % O fie ™ PR A W iB
14 EOi& zp=-B i i




Autodesk Maya & ¥ % BA0% RS ® B Fxp #109/12/24

BEl ¢ 2d? FL% i i BRE| P24t L% i

1 7O% P - EAFT i i 25 + 0P T p - EAFT g

2 + 0% T P - #EAFT i i 26 PO P - #EAFT i i
3 TO® > P - EAFT i i 27 * 01 > P - EAFT i i
4 2046 z P - EAFT i i 28 * 04 T p - &AL i
5 2O T p - EAFT i i 29 O T P - &ATT i
6 w02 z p— &AFT i B 30 FOK > P - EAFT i i

7 10% ® P - &AFT i i 31| #OF w P - &AFT i i

8 F0% > P — #AFT i i 32 3E O > P - EAFT i i

9 0% T f— #FAFT i if 33 Oz T P — FAFT W iE

10 MO & > p - EAFT i iF 34 0% > p - #BrT i i
11 MmOz} P - EAFT i 35 ENOLL ® p - #BrL g
12 % O P - EAFT i iE 36 Q”j“Oflﬁ P - EAFT i i
13 ¥Of T p - EAFT i 37 O] TP o EAFT g

14 v 0% > P — EAFT i g 38 A O > P = EAFT i B

15 08 > P - EAFT i i 39 Z Ok > P EAFT tCARL]
16 + O > P - EAFT i g 40 =20% > P - EAFT i

17 T 0& > P - EAFT i i 41 H#HO P TP o EAFT i i

18 FO % T P - FAFT i iE 42 % Q= 7 p - #BrT i iE
19 # O4= > P - EAFT i i 43 #HOZ= > p - #BFT i

20 £ 085 z P - EAFT AR 44 HO X > p = #BrT i i

21 FR O 4% = P - #FAFT i i 45 #FO~ z p - #BrT i i
22 %0 % z P - EAFT i i 46 RO At > P EAFT i i

23 #wO = > P - #FAFT il i A7 #HRO% z pow EAFT i i

24 HOE T f— #FAFT il 1F 48 Z 0= T P #EAFT W iE




Autodesk Maya % ¥ % WA FAERER Fp P :109/07/03

BE| ¢ 2pr F1 i 3B Bl ooz - d
L] #o# | wp-4 L8 |30 gosz Ep A iL i
2] to= ®p - A 48 [ 31| smom . &
°| 203 Ll 16 32| pom e p oA i1 1§
1l #0> zp-A L [33) poy | wap-oa 4 i
S| Ho% ®p - A 48 (34| gop e - A &
6] #or Ep - A $E [ mox e B4 i
7] #0W% Ep - A 4F 36] w034 Y 4 i
° | KO zp-A 48 |37 #om | wp-4A £ i
9] w04 ® p - A 28 |38 xox e A &
0] o ®p - A 2# 39| gox . &
! O zp-A L8 40 O e P - A i
2] #o® 2 A ad |4 307 s p -4 T @
13 36 0% e p- A i 42 # O 3 z p_-B i i
4] =04 2 Ao A 1% |8] sow g C €
5] #o% - A 28 |4 30z s p - a4
6] #wome Ep - A € (45| o= e B G i
A {1 zp-A L6 |46] pom | wp=zA L i
18] mo ®p - A £ (|47 wom s h = %
9] glomr g - A 28 [48] 103 e p =t %
20| MO g - A 28 | 49| yox s h=a &
Al #ow zp-A 4E |50 mow BpzA i€ i
2] #03 zp-A L8 |51) ou | wp=zA L i
2] 4of zp-A 4E 92| now EpzA € i
2| 208 | wr-d 46 |53 #ow 2P A L i
2| 0% zp-A 8 || pos pzA i€ if
26] mos B p A £ 55| wou s h = %
2] #ow B p A 28 |56 mom 55 2B i
28 &EO%T P - A i iF 57 3 O 12 ®p =B i i
291 EOm P - A Wi 8| =0 v g =C i i




Autodesk Maya & ¥ % $-HWEAIHEHER

T3P ¥ - 108/7/26

Byl ¢t FLi i i FEl ¢t FL il
1 20% - B - EAFT i g 14 £-0 T p = #EAFT i g
2 10% - p - EATT i i 15 Ok P = EAFT Wi
3 MmO -= - P EATT 8 16 + 0@ T P = EAFT i
4 HO%H - P EATT i i 17 FOat z P #EAFT i
5 # O - P EATT i i 18 1O z P #EAFT Wi
6 RO & - p = EAFT i g 19 NN z p oz &(CFL i i
7 8O = - P EATT i B 20 MmO & T e EAFT i
8 O 4 - P EAFT ]

9 MO i - P EAFT i iE

10 X 033 - B = EAFT ]

11 B O # - pZ EAFT i i
12 308 - p - E#CFL i i
13 0% - p - #CFL i i




Autodesk Maya & ¥ % $#-#MEXF-REZER Fzxp g1 108/1/7

Fad ¢4y FLi i i Bl ¢t FLi i i
1 HOE P - EAST i i 25 » 0% P - EAST i
2 MO % T P - #EATT i 26 MmOR z P - #EAFT i i
3 20 > p— EAFT il i 27 10% > p - #&BrT i i
4 MO P - EAFT i 28 i O% T P #EAFT i
5 7 O T p - #ATT i 29 207 > p - EAFT i
6 F0& T P - EAFT i 30 10# T P EAFT i i
T # O % P - #AFT i i 31 Qe z B - EAFT i i
8 7 O 2z P - #AFT i i 32 1V AOESS P - #AXT i i
9 £ O > P - EAFT i 33 =0# r P = EAFT i i
10 O T P - EAFL i 34 & O T P #EAFT i i
11 E O T P - EAFT i 35 PO T P EAFT i
12 ¥ 0% T P - EAFT i i 36 HFHOF T P = EAFT il i
13 O % T p - #ATT i 37 % O1 T P EAFT i i
14 HOE P - EAFT i 38 EOP T P oo EAFT i i
15 0= > p— EAFT il i 39 20= T P = EAFT i i
16 O ~ T p - #ATT g 40 +0F P = #EAFT LEIRL]
17 + O£ T p - #ATT i i 41 O TPz EAFL i i
18 WO 2z p— EAFT i i 42 %207 T p = EAFT i i
19 O > P - EAFT i i 43 O B T P = EAFT i i
20 #HO0z P - & AT i 44 FO= T P = #EAFT i i
21 30 Fe P - #AFT i i 45 2 0% > P = #EAFT i iE
22 B O T P - &ATT i 46 20% z pow #(CFL i i
23 #HO 4= T p - #ATT i 47 i O T e = EAFT i i
24 20+ > P - FEAFT i i




Autodesk Maya % ¥ % MR RSHBE

T3P ¥ 106/11/11

BE| ¢4t FLB g BEl ¢ ~it FL& i iF
| ®OF 7z P — FAFT il i 19 RO p = #AFT i i
2 7 O - P - EAFT i 20 % O 5 P = #AFT i
3 MmO~ - P - EAFT i i 21 O+ P = EAFT i i
4 3% O 4% - P - EAFT TR 22 2 04 p = EAST i iF
5 ¥O= - P - EATT i i 23 #O0%F P = EAFT i
6 O # - p— EAFT i i 24 O P = EAFT i
7 EOp - B - EAFT i iF 25| 0% Pz EAFT i i
8| 204 P - EAST TR 26| 20% p= &AFL i
9 #O F - B - EAFT i i 27| #O= Pz #EAFT i i
10 t O - P = #AFT i i 28 2 O p = #Brr i
11 O - P = EAFT i 3B 29 HO% p = #Brr il i
12 fO0% - P = #EATT i i 30 £104 p = #BrT i i
13 % 0% - P - EAXT i i 31 MmO p=&(Crx i i
14| #®03% P EAFT i 32| HOm pow AR i
15 %O % - P = #AFL i i 33 0% Pz #EAFT i i
16| mO= Pz EAFT i B 34| EO® ® pow EART i i
17 B O% - P = EAFT i 39 F0ix iR = #EAFT i i
18 =0% - P = EAFT g 36 7 O % > iE = EAFT i




